
Parts List for CNC Router 3-4 MDF Parts - b.txt

November 22 2010

Part# Dimensions       Name
  1)     6 x 8 7/8            Z Axis Platform
  2)     6 x 3 1/8            Z Axis Bearing Support
  3)     6 x 3 1/8            Z Axis Bearing Support
  4)     6 x 2                  Z Axis Router Clamp Base
  5)     6 x 2                  Z Axis Router Clamp Base
  6)     2 x 4 1/4            Z Axis Router Clamp
  7)     2 x 4 1/4            Z Axis Router Clamp
  8)     7 1/2 x 13 3/4    X Axis Platform
  9)     7 1/2 x 2 3/4      X Axis Top Plate
 10)    7 1/2 x 2 3/4      X Axis Bottom Plate
 11)    7 1/2 x 3 1/4      X Axis Bearing Mount
 12)    7 1/2 x 3 1/4      X Axis Bearing Mount
 13)    5 1/4 x 3 1/4      X Axis Nut Support
 14)    2 x 2                  Small Adjustment Block
 15)    2 x 2                  Small Adjustment Block
 16)    2 x 2                  Small Adjustment Block
 17)    2 x 2                  Small Adjustment Block
 18)    2 x 2                  Small Adjustment Block
 19)    2 x 2                  Small Adjustment Block
 20)    2 x 2                  Small Adjustment Block
 21)    2 x 2                  Small Adjustment Block
 22)    21 1/2 x 8          Gantry Side - Right
 23)    21 1/2 x 8          Gantry Side - Left
 24)    23 x 8                Gantry Bottom
 25)    23 x 10 1/2        Gantry Rear Brace
 26)    24 1/2 x 2 7/8    Gantry Front
 27)    8 x 1 1/2            Gantry Corner Block
 28)    8 x 1 1/2            Gantry Corner Block
 29)    8 x 3                  Y Axis Bearing Block
 30)    8 x 3                  Y Axis Bearing Block
 31)    8 1/4 x 32 1/2    Support - Motor Side
 32)    8 1/4 x 32 1/2    Support - Motor Side
 33)    8 1/4 x 32 1/2    Support - Bearing Side
 34)    8 1/4 x 32 1/2    Support - Bearing Side
 35)    2 1/2 x 2 1/2      Adjustment Block Large
 36)    2 1/2 x 2 1/2      Adjustment Block Large
 37)    2 1/2 x 2 1/2      Adjustment Block Large
 38)    2 1/2 x 2 1/2      Adjustment Block Large
 39)    43 1/2 x 22        Cutting Bed



Cutting Diagram for CNC Router 3-4 MDF Parts - b.txt

November 22 2010  (Page 1)

Supply piece 1

Supply piece 2

1: 6 x 8 7/8

2:
 6

 x
 3

 1
/8

3:
 6

 x
 3

 1
/8

4:
 6

 x
 2

5:
 6

 x
 2

6
7

8: 7 1/2 x 13 3/4

9:
 7

 1
/2

 x
 2

 3
/4

10
: 7

 1
/2

 x
 2

 3
/4

11
: 7

 1
/2

 x
 3

 1
/4

12
: 7

 1
/2

 x
 3

 1
/4

13

14
15
16

17 18 19

20
21

22
: 2

1 
1/

2 
x 

8

23
: 2

1 
1/

2 
x 

8

24
: 2

3 
x 

8
25

: 2
3 

x 
10

 1
/2

26
: 2

4 
1/

2 
x 

2 
7/

8

27
: 8

 x
 1

 1
/2

28
: 8

 x
 1

 1
/2

29
: 8

 x
 3

30
: 8

 x
 3

31: 8 1/4 x 32 1/2

32: 8 1/4 x 32 1/2

33: 8 1/4 x 32 1/2

34: 8 1/4 x 32 1/2

35 36 37

38

39
: 4

3 
1/

2 
x 

22

1

2

3

4

5

6: 1 7/8 x 8 7/8

7

8: 1 3/8 x 12 3/8

9: 1 3/4 x 22

10: 26 3/8 x 25 7/8

11: 6 x 28 1/4


